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	Peak detection
(XCMS)
	Peak alignment and combination
(mzMatch)
	Recursive analysis
(PeakML.Gapfiller)

	Method: Centwave
Tolerance = 40 (ppm)
Peak width = 5-100 (s) 
S/N ratio = 3
Prefilter = at least 3 peaks at minimum intensity of 300
Method 1 for integration
Min difference in m/z for peaks overlapping retention times = 0·008 m/z
	Ret time window = 30 (s) and 60 (s) for samples from the same group and to combine different groups of samples, respectively.
Tolerance = 20 (ppm)



	Tolerance = 40 (ppm)
Ret time window = 30 (s)





